

BID BULLETIN 01

Date: 19 March 2024

Project Title: Supply and Delivery of Hardware and Construction Supplies (VSU-GOODS-

24-25)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

egal Documents						
1	PhilGEPS Certificate of Registration (Platinum)					
Technical Documents						
2	Statement of All On-Going Government & Private Contracts					
0	Statement of Bidder's Single Largest Completed Contract (at least					
3	25% of the ABC or Php 1,012,952.00 .					
	Or					
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 1,012,952.00 and the largest of which should be at least PhP 506,476.00					
4	Bid Security					
5	Technical Specifications					
6	SCHEDULE of Requirements/Production and delivery schedule					
7	Manpower Requirements					
8	After Sales service/parts from acceptance of delivered goods (at leas					
0	1 year for equipment and 3 months for supplies)					
9	Original Duly Signed Omnibus Sworn Statement					
Financial Documents						
10	The Supplier's Audited Financial Statements					
11	Net Financial Contracting Capacity (at least Php 4,051,808.00)					
	Or					
	Committed Line of Credit (at least Php 405,180.80)					
(2 nd Envelope) FINANCIAL COMPONENT ENVELOPE						
12	Original of duly signed and accomplished Financial Bid Form					
13	Original of duly signed and accomplished Price Schedule(s)					



Please take note:

- 1. In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" **against each of the individual parameters of the specifications** per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of **manufacturer's un-amended sales literature (Data Sheets)**, **unconditional statements of specification and compliance issued by the manufacturer**, **samples**, **independent test data**, **and Brand and Model** as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of **ITB** Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).
- 2. Bidders are advised to use the latest GPPB forms for the following documents:
 - a) Omnibus Sworn Statement
 - b) Performance Securing Declaration (if applicable)
 - c) Price Schedule for Goods Offered
 - d) Bid Form
 - e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

- II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)
 - 1. Scan per document into Portable Document Format (PDF) and should be printable.
 - 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
3.	Statement of Bidder's Single Largest Completed Contract	SLCC
4.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7.	SCHEDULE of Requirements/	Schodula of Paguiroments
8.	Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph before the deadline.

III. Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
5. A complete set of Bidding Documents may be acquired by interested Bidders on 28 February – 20 March 2024 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	5. A complete set of Bidding Documents may be acquired by interested Bidders on 28 February – 20 March 2024 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund 164 Account Number: 3572-1000-13 Then send the deposit slip to jessamine.ecleo@vsu.edu.ph
Section II. Instructions to Bidders	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use Blue envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.



IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Ite m#	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	original combination wrench set, (8mm-32mm)	set	1	1,800.00	1,800.00
	Combination set original				
	Original made, *durable				
	*made from high quality steel				
	*16PCS HEAVY DUTY COMBINATION WRENCH				
	SIZES: 8,9,10,11,12,13,14,15,17,19,21,22,24,27,30,32MM				
2	Professional Drilling and Screwdriving 103 pcs/set	set	1	2,000.00	2,000.00
	Assortment of screw driving bits				·
	Socket wrenches and adapter				
	Holds some magnetic bits				
	Compatible with attractive mixed set that covers all common applications				
	Organised in a moulded display robust carry case				
	INCLUDES:				
	9 x metal drill bits (2 x 1.5, 3 x 2, 1 x 2.5, 4 x 3, 1 x 3.2, 1 x				
	3.5, 1 x 4, 1 x 4.5, 1 x 4.8, 1 x 5, 1 x 5.5, 1 x 6 and 1 x 7mm),				
	40 x 25mm screwdriver bits (10 x PH (2 x 0, 2 x 1, 3 x 2 and				
	3 x 3mm), 10 x PZ (2 x 0, 2 x 1, 3 x 2 and 3 x 3mm)				
	6 x S (2 x 4, 2 x 6 and 2 x 7mm)				
	10 x T (2 x 10, 2 x 15, 2 x 20, 2 x 25, 30 and 40mm)				
	4 x H (3, 4, 5 and 6mm))				
	13 x 50mm screwdriver bits (4 x PH (0, 1, 2 and 3mm)				
	4 x PZ (0, 1, 2 and 3mm)				
	2 x S (4 and 6mm)				
	3 x T (10, 20 and 25mm))				
	2 x spade bits (16 and 22mm),				
	5 x masonry drill bits (4, 5, 6, 8 and 10mm)				
	Bit holder				
	4 x holesaws (32, 38, 44 and 54mm)				
	Hole saw adapter				
	9 x wood drill bits (2 x 3, 2 x 4, 1 x 5, 1 x 6, 1 x 7, 1 x 8 and 1 x 10mm)				
	7 x nut setters (5, 6, 8, 10, 11, 12 and 13mm)				
	Countersink and Allen key				
3	1-1/2 inch wood screws	box	1	300.00	300.00
	phillips head, dry wall black screw, 500 pcs. per box				
4	1-1/2-inch self-drilling screws for steel	box	2	70.00	140.00
	Hex head, with rubber gasket, 100 pcs per box				
5	door knob	рс	15	1,300.00	19,500.00
-	Protected by antimicrobial Microban – surface is 99.9% cleaner. Fits door thickness of 1-3/8 in. to 1-3/4 in. Adjustable			,	,



	latch fits all standard door types.				
	Good Quality				
6	4-inch diamond cup grinding disc	рс	3	230.00	690.00
	heavy-duty, diamond cup wheel for concrete grinding				
7	4-inch metal cutting disc	рс	5	250.00	1,250.00
	heavy-duty, EN12413 compliant	-			·
8	500KG Electric Hoist 1600W	unit	1	30,000.00	30,000.00
	Double Hook			· ·	·
	Input Power: 1600W				
	Load Capacity: 500Kgs				
	Lifting Height: 6 meters				
	Lifting Speed: 4 meters/minute				
9	Abrasive Paper, Floor Sanding Sheet Grit #36	meter	5	350.00	1,750.00
	■Very Coarse, Sand Paper Abrasive, Premium Grade	IIICCCI		000.00	1,7 00.00
10	Abrasive Paper, Floor Sanding Sheet Grit #80	meter	5	250.00	1,250.00
10	Medium Coarse, Sand Paper Abrasive, Premium Grade	IIIetei		230.00	1,230.00
11	Abrasive Paper, Sand Paper Grit #120, 9" x 11"	sheet	6	30.00	180.00
11	© Fine Sanding, Waterproof, Good Quality	SIIEEL	U	30.00	100.00
12	Abrasive Paper, Sandpaper Grit #100	sheet	20	30.00	600.00
IZ	• • • • •	Sneet	20	30.00	600.00
42	Medium Coarse, Premium Grade, Waterproof	abaat	20	40.00	200.00
13	Abrasive Paper, Sandpaper, #1000	sheet	20	40.00	800.00
44	Super Fine, Premium Grade, Waterproof		F 0	200.00	40,000,00
14	Abrasive Paper, Sandpaper, #120	meter	50	200.00	10,000.00
	■Fine, Premium Grade, Waterproof			750.00	0.750.00
15	Acrytex Cast	gal	9	750.00	6,750.00
16	Adjustable Eye Shield Protection safety goggles	рс	3	160.00	480.00
	Eye Shield Protection - safety googles				
	This glasses is made of premium material for lab factory				
	warehouse and outside cycling construction work anywhere need to wear goggles.				
	Eye Protection				
	Anti Virus Glasses				
	Anti-dust Anti-droplets				
	Adjustable frame Light Weight				
	<u> </u>	+ -			
	Lens Color: Transparent				
47	Frame Color: Black			400.00	0.000.00
17	Adopter P.E. 2"	рс	5	400.00	2,000.00
18	Advance Upgraded Starter Arduino Kit	рс	2	1,850.00	3,700.00
19	Angle Grinder, 4"Ø (100mm)	рс	1	4,500.00	4,500.00
	■Heavy Duty				
	■ Durable				
	■Power Rating: At least 840 Watts				
	■No load speed: At least 11,000 rpm				
	■Wheel diameter: 4"(100mm)				
20	Anti UV 85% Sun Shade Net black Outdoor Garden Net Farm Net Greenhouse Net Sunscreen	roll	2	1,800.00	3,600.00
	Sun shade net				



$\overline{}$					
	Color: Black				
	Dimension (LXW): 1×20M				
	Function: Shading heat insulation, humidity reduction				
	Applicable scene: Garden, Plants shade, Greenhouse				
21	ball bearing	рс	20	150.00	3,000.00
	Specification: 6205ZZ				
22	Barbed Wire, Gauge 12	roll	3	3,500.00	10,500.00
	■GI #12 wires of 2-points-4-strand rolls				
	■26kg/roll at 150 m per roll				
23	Bench Grinder, Grinding Wheel, 6" x 3/4"(thickness) x 1" Arbor hole	рс	4	150.00	600.00
	Bench and Pedestal Grinding Wheel (Rough) for Steel and				
	Stainless Steel, 6" Diameter, 3/4" Thick, Heavy Duty, Durable				
24	Bidet spray toilet bidet rinse set, Heavy Duty	рс	19	2,000.00	38,000.00
25	Bolt w/nut, 5/16 x 1-1/2"	рс	100	15.00	1,500.00
26	Bolt with nut, 5/16" dia x 1"	рс	100	15.00	1,500.00
27	Bolt with nut, 7/16" x 2"	рс	100	20.00	2,000.00
	dimension: 7/16 inch by 2 inches				
28	Bolt with nut, 7/16" dia x 1-1/2"	рс	100	15.00	1,500.00
29	Bulb Socket, PVC	pc	4	50.00	200.00
	■Standard size,	•			
	■round,				
	■ISO Certified and Good Quality				
30	Bulb, LED, 15W	рс	98	300.00	29,400.00
	■Wattage: 15 Watts	P			
	■Lumens: 1521				
	■Color Temp.: Daylight				
	■Beam Angle: 200 degrees				
	■ Voltage: 170-240 V AC 50/60Hz				
	■Bulb Holder: E27				
	Delife Hours: 15,000 hrs.				
	Material: PC cover & Aluminum PCB				
31	Bulb, LED, 20 Watts	nc	20	400.00	8,000.00
- 31	■Up to 80% energy savings,	рс	20	400.00	0,000.00
	■Eco-friendly,				
	■No UV radiation,				
	No mercury,				
	Wattage: 20 Watts,				
	©Color Temperature: 6500K,				
	■Color Temperature. 6500K, ■Daylight Brightness: at least 1800 Lumens				
	Base: E27,				
	■Base: E27, ■Lifetime: at least 30,000 hours,				
20	©Power Input: 220-240Vac, 50/60Hz		C.E.	250.00	46 050 00
32	Bulb, LED, 9W	рс	65	250.00	16,250.00
33	Bulb, Sockets	рс	15	100.00	1,500.00
	■Plastic				
	■round, size 3" x 3",				
	■ White color.				



	■For E27 bulbs.				
34	Bushing G.I. 2" x 1-1/2	рс	2	350.00	700.00
35	Cable Tie, 4" x 250mm, 100pcs/pack	pack	5	150.00	750.00
	Nylon, 4x250mm;	1			
36	Cement, Portland	bag	158	330.00	52,140.00
	■Type 1P, Premium Quality				
	■ASTM C150				
37	Circuit breaker 15A, surface type, 2-pole	рс	2	600.00	1,200.00
	15A, surface type, 2-pole;				1,=00100
38	Concrete Hollow Blocks (CHB), 4"	рс	598	25.00	14,950.00
	Standard Size			20.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	■3-Cell Concrete Hollow Block 4"				
	■At least 350psi				
	Crushed gravel, 3/4 inch nominal diameter crushed		_		
39	stone, for coarse aggregates	cu.m.	5	1,800.00	9,000.00
40	Cut off Blade, 14" x 1/8" x 1", good quality	рс	20	360.00	7,200.00
41	Cutting Disc for Steel/Stainless, 4"	рс	12	270.00	3,240.00
42	Deadbolt, Single Cylinder	рс	5	1,200.00	6,000.00
	Chassis: Stainless Steel				
	Latch and Bolt : Zinc - Strike : Steel / Brass / Stainless Steel				
	Cylinder Housing: Brass / Steel Backset: 60mm / 70mm				
	Anti-Sawing Insert : Hardened Steel				
	Cylinder : Solid Brass 5-pin tumbler cylinder				
	Heavy Duty				
	US32D Finish				
43	Demolition Jack Hammer, (Ground Breaking) concrete	рс	1	20,000.00	20,000.00
	Dimensions:72 x 34 x 20 cm				
	Rated Input Power: 2200W				
	Hammer Type:Demolition Hammer				
	Frequency: 60Hz				
	Power Source:AC				
	Usage:Renovation Team				
	Weight:20Kgs				
	Rated Voltage: 220V				
	Power:2200W, 3600W				
	Power Source(Others):Electric				
	Voltage:110V for US, 220V for AU/EU				
	No Load Speed(2200W):1400 R/Min				
	Impact Force(2200W):55J				
	Chuck Size:1-1/8Inch (Hex)				
	Fore-Grip Handle Swivel:360 degrees				
	Oil(3600W):No.46 Hydraulic Oil				
	Usage:Home DIY & Industry				
	Chisel:1-1/8" Bull Point Chisel, 1-1/8" Flat Chisel	1			
	Tool Size(2200W):410mm	<u> </u>			
	Machine Length (w/o tool)(2200W):630mm	<u> </u>			
44	Diameter Tape	рс	1	5,000.00	5,000.00
	■Forestry diameter tape	<u> </u>		,	,
1	,	1			



				1	
	■Woven synthetic fabric tape				
	■PVC coated steel case				
	■Case size: at least80mm				
	■Tape length: at least10m				
	■Tape width: at least16mm				
45	Door Knob	рс	5	1,000.00	5,000.00
	➤ Stainless Steel				
	► Door Thickness: 35-50mm				
	► Entrance Function				
	► 3 Keys Included				
	► US32D Finish				
	► High Quality				
	► Heavy Duty				
46	Double pulley, 3"x1", B type	рс	20	200.00	4,000.00
	3 inches x 1 inch, B typewith big hub				,
47	Drill bit set	set	1	4,000.00	4,000.00
<u> </u>	Set consists of: 1/16 inch to 1/2 inch drill bits		•	.,555.66	.,
	(A19020)				
48	Drum, Barrel Drum, Blue 200-220L capacity	drum	2	2,100.00	4,200.00
	BHDPE	arum		2,100.00	7,200.00
	©Closed Head				
	■Good Quality				
40	©Clean	4		4 000 00	0.000.00
49	Electric grinder	set	2	4,000.00	8,000.00
	Diameter: 100mm				
	Voltage: AC, 220-240V; Amperage: 3.2A				
	Hertz: 50-60Hz; Wattage: 840W				
50	Electric Hand Drill	set	3	14,900.00	44,700.00
	■Rotary hammer, 26mm max. cap., 800W, 230V, 50/60Hz, 0-1150rpm, 2.3KJ,				
	■5kg. with reverse				
51	Electric Water pump, Jet shallow, 1 HP	unit	1	10,500.00	10,500.00
52	Electrical Circuit Breaker, 30A, (Box type)	рс	3	550.00	1,650.00
	Heavy Duty and Good quality, Durable				
	220-240V				
53	Electrical Outlet, Convenience 2 gang, (Flush type)	set	3	200.00	600.00
	Good Quality, Durable				
54	Electrical Switch, 3-way, flush type	рс	1	200.00	200.00
	Heavy duty, Good quality				
55	Electrical Tape (Rubber)	рс	5	180.00	900.00
	■rubber, 0.8 x 19mm x 8m any color;	-			
56	Electrical Tape, Vinyl	roll	40	75.00	3,000.00
	■Flame retardant and compatible with plastic cable and wire		-		-,
	harness insulations				
	■Flexible PVC with aggressive rubber adhesive				
	■Primary electrical insulation for all wire and cable splices				
	rated up to 600 volts.				
	■19mm x 16m x 0.155mm				



	■Heavy Duty				
	■ASTM approved				
57	Electrical Wire, THHN / THWN, AWG 10 (5.5mm2),	box	2	8,500.00	17,000.00
31	Stranded, 150 meters/box	DOX		0,300.00	17,000.00
	■Building Wire				
	■Stranded with Nylon Insulation				
	■ Gauge 10				
	■ UL listed				
58	Electrical Wire, THHN/THWN 250 MCM (125 mm2) 600 volts (stranded copper wire)	meter	20	1,500.00	30,000.00
	Electrical Wire, THHN/THWN 250 MCM/ 150 mm2, 600				
	Volts, Stranded Wire				
	Strong dead with Nulses less defines.				
	Stranded with Nylon Insulation				
	■Gauge 10				
	■UL listed		05	0.500.00	00 500 00
59	Emergency Light, 2 x 3 Watts	рс	25	2,500.00	62,500.00
	Good quality				
	Durable				
	Dome reflector for wider light distribution				
	Automatic Operation (turns on instantly when power is cut- off)				
	Equipped with Overcharging protection				
	Fuse protected				
	Illuminates areas more than 1 lux				
	Light Source: 2x1W High Power SMT LED				
	Battery: 4V 4.0Ah - 6V 4.5Ah Sealed Lead Acid				
	Charging Time: <20 hours				
	Performance Time:≤6 hours (at full charge)				
60	End mill size 10	box	6	850.00	5,100.00
	has 10mm milling cutter;				
61	End mill size 6	box	3	550.00	1,650.00
	has 6mm milling cutter;				
62	Extension Ladder, Fiber Glass, at least 21'	unit	2	20,000.00	40,000.00
	Load Capacity: atleast 300 lbs Reaches from 8 ft to an extendable length of 13 ft Self-leveling 2-way swivel safety				
	shoes Main Material: Fiberglass Dimension: atleast 268 x 47				
	x 17, cm Weight: atleast 16.5 kg				
63	Extension wire with 4 gang Universal Convenience Outlet, at least 10m long	рс	16	500.00	8,000.00
	■at least 10 amperes wire capacity				
64	Faucet, Brass (Ordinary)	рс	10	400.00	4,000.00
65	Fire Extinguisher, Dry Chemical (ABC), 10lbs	unit	7	3,000.00	21,000.00
	ISO Certified				
	Dry Chemical recommended for all classes of fires				
	Non Toxic				
	Non Conducting and Non Corrosive Chemical				
66	Flange bearing, square type	рс	10	480.00	4,800.00
	Square flanged ball bearing unit with set screw locking				
	·				



	1 1/4 inch bore diameter				
67	Flat Bar, 1/4"(thickness) x 1" x 6 meter	no	5	500.00	2,500.00
68	Flourescent Lamp Set 40 watts, 220 volts	pc set	20	400.00	8,000.00
00	Fluorescent Tube 40 watts, 220 volts, with casing ballast and	Set	20	400.00	0,000.00
	starter.				
69	G.I. Tie Wire #16, Good Quality	kg	86	90.00	7,740.00
70	Galvanized Steel Roof Panel, 12ft	sheet	20	850.00	17,000.00
	■Roof Panel Type: Corrugated sheet or pre-painted roof				
	panel				
	Color Family: Metallic				
	Material: Metal				
	◆Product Thickness (in.): .020				
	◆Product Length (in.): 144 in				
	■Approximate Length (ft.): 12				
	◆Product Width (in.): 26 in				
71	garden bolo/ guna	рс	4	350.00	1,400.00
	weeding knife with a very short and wide dull blade with a				
70	perpendicular blunt end.		500	55.00	07.500.00
72	Garden Hose, 5/8"Ø, Good Quality	meter	500	55.00	27,500.00
73	GI Pipe 1/2 x 6 m. sch 40	length	7	650.00	4,550.00
74	GI Pipe 1/2x6m sch 60	length	5	750.00	3,750.00
75	GI Pipe 3/4 x 6 m. sch 40	length	15	1,000.00	15,000.00
76	GI Pipe 3/4x6m sch 60	length	4	1,300.00	5,200.00
77	Good Lumber Wood 2x2x12 (s4s)	рс	27	400.00	10,800.00
78	Good Lumber, 2" x 3" x 12"	рс	2	800.00	1,600.00
79	Good Lumber, 2" x 6" x 12'	рс	439	1,500.00	658,500.00
80	Good lumber, 2"x4"x12"	pc	2	1,300.00	2,600.00
81	Grass/Brush cutter (Four Stroke Engine)	unit	4	25,000.00	100,000.00
	■Engine: 4 stroke engine				
	■Handle type: both hands				
	■Power transmission method: automatic centrifugal clutch, spiral gear				
	■Displacement Volume (cc): 41.5				
	■Carburetor: Float, piston valve				
	Starting Method: Recoil starter				
	Stopping Method: Sparking Circuit Primary Short Stopping Method: Sparking Circuit Primary Short				
	■Fuel Used: Lubricating oil mixed gasoline (mixing rate 25:1)				
	Lubricating Oil Used: 2-cycle engine oil				
	■ Fuel Tank Capacity (L): 1	+ -			
82	Grasscutter Blade (305mm x 1.6mm x 25.4mm x 2T)	рс	10	650.00	6,500.00
72	For Kawasaki Grasscutter unit, functional & good quality	"		00000	0,000.00
83	Grinding Stone 4"	рс	12	300.00	3,600.00
84	Hacksaw Blade, 14 TPI x 12"	рс	30	75.00	2,250.00
	Bi-metal, High-Speed, Durable, Premium Quality			1 3.00	_,
85	Hand Planer Portable 3-1/4" good quality	unit	1	6,000.00	6,000.00
86	Heat Gun 2000W 4 nozzle	unit	2	3,000.00	6,000.00
	Voltage: 202V-240V, 50/60 hz			.,	-,
	Power: 2000W				
	AirFlow: 300/500L/min with 1 pc scrapper and 4 pcs Nozzles				
		1		j.	



07	Heavy Duty 40 V Drughless Cardless Immed Drill	T 22	4	12 000 00	42 000 00
87	Heavy Duty 18 V Brushless Cordless Impact Drill	рс	1	13,000.00	13,000.00
	Including 2pcs batteries and charger			0.500.00	2 500 00
88	Heavy Duty Angle Grinder, 4"	рс	1	3,500.00	3,500.00
	Continuous rating input: 840W				
	Wheel Diameter: 100 mm (4")				
	No Load Speed (RPM): 11,000				
	Vibration Level: Surface Grinding: 7.5 m/s ²				
	Vibration K Factor: Surface Grinding: 1.5 m/s²				
	Sound Pressure Level 85 dB(A)				
	Sound Power Level: N/A dB(A)				
	Noise K Factor: 3 dB(A)				
	Dimensions (L x W x H): 273x118x97 mm (10-3/4"x4-5/8"x3-13/16")				
	Net weight: 1.7 – 2.0 kg (3.7 – 4.5 lbs.)				
	Power supply cord: 2.5 m (8.2 ft.)				
89	Heavy Duty Electric Hand Drill	рс	1	2,500.00	2,500.00
	Rated power input 320 W				
	No-load speed 0 - 4 / 200 rpm				
	Weight without cable 1 kg				
	Chuck capacity 6,5 mm				
	Length 204 mm				
	Width 58 mm				
	Height 174 mm				
90	Industrial and Heavy Duty High-Voltage Electrical Tester	unit	2	26,000.00	52,000.00
	Calibration Every 1-year			,	<u> </u>
	Fork opening 17.8mm (0.7")				
	Temperature: Opening (-10 °C to +50 °C)				
	Storage: (-30 °C to +60 °C)				
	Altitude: Operating (2,000 m)				
	Storage: 10,000 m)				
	Relative Humidity: 0 % to 90 %, 5 °C to 30 °C				
	0 % to 75 %, 30°C to 40°C				
	0 % to 45 %, 40°C to 50°C				
	Battery Type & Life: 2xAA (IEC LR6) & 200-hour using the				
	field sense Function				
	Temperature coefficient: 0.1 x (specified accuracy) /°C for				
	<18 °C or > 28 °C				
	Safety: IEC 61010-1 : Pollution Degree @				
	IEC 61010-2-032: CAT IV 600 V/ CAT III 1000 V				
	Electromagnetic Compatibility : IEC/EN 61326-1				
	General Requirement:				
	Provide one-year Warranty				
	Provide technical assistance and training on product usage				
	and service center within the Cebu or Manila.	1			
	Product Manufacturer/developer at least 15 years in the				
04	Electro-mechanical maintenance industry	11:0:4	5	3 500 00	17 500 00
91	Industrial and Heavy-Duty Non-Contact Voltage Tester	unit	J	3,500.00	17,500.00
	Voltage sensing ranges :90 V AC to 1000 V AC	1			
	Detector tip style: Flat-tip				



	Light Source: One high intensity red LED				
	Safety IEC 61010-1: Pollution Degree 2, IEC 61010-2-				
	030:CAT IV 1000V				
	EMC : ICE 61326-1				
	IP Rating: IP 40				
	Operating Temperature: -10°C to 50°C (14°F to 122°F				
	General Requirement:				
	Provide one-year warranty				
	Provide technical assistance and training on product usage				
	and service center within the Cebu or Manila				
	Product Manufacturer/developer at least 15 years in the				
	electro-mechanical maintenance industry				
92	Knife, Butcher's, Stainles Steel	рс	1	400.00	400.00
	6.5" blade by 11" length, Good Quality				
93	LED Bulb, 13 watts, 87% Energy Saving	рс	200	250.00	50,000.00
94	LED Bulb, 9 watts	рс	100	150.00	15,000.00
95	LED T5 Tubelight	рс	12	350.00	4,200.00
	■Rated Power:16 Watts				
	■Length: 1200mm				
96	Long Tape Measure (60M)	unit	1	1,500.00	1,500.00
	■Blade length: 60m/200'			,	,
	■ Blade width: 1/2"				
	■Rubber grip for comfort 2-sided blade graphics with				
	fractional inch/decimal foot scales				
	■Corrosion-resistant Tru-zero folding end hook for accurate				
	measurements				
	■Polymer-coated blade withstands abrasion				
97	magnetic welding holder to set fixed angle	рс	4	100.00	400.00
	Soldering locator for 45, 90, and 135 degrees angle				
98	Mild Steel Plate , 1/8"(3mm thickness) x 4' x 8'	sheet	5	5,850.00	29,250.00
	Standard Grade				
99	Mild Steel Plate, 6mm(thickness) x 4' x 8'	рс	1	12,500.00	12,500.00
	Steel Plate, (4' x 8' x 1/4" size);				
100	Nails, Common Wire, 1", Smooth Shank	kg	13	90.00	1,170.00
101	Nails, Common Wire, 2"	kg	35	90.00	3,150.00
	Smooth Shank				,
102	Nails, Common Wire, 2-1/2"	kg	4	90.00	360.00
103	Nails, Common Wire, 3"	kg	52	90.00	4,680.00
	Smooth Shank				,::5:55
104	Nails, Common Wire, 4"	kg	61	90.00	5,490.00
	Smooth Shank				2, 120.00
105	Nails, Finishing 1-1/2"	kg	1	90.00	90.00
106	Nails, Roofing (Umbrella), 2 1/2"	kg	40	130.00	5,200.00
100	Twist Shank	ng	70	130.00	3,200.00
107	P.E. Pipe hdpe 2", 60 metersper roll	roll	1	8,500.00	8,500.00
-			-	 	· · ·
108	Paint Brush, 2"	рс	30	80.00	2,400.00
	Durable bristles Discount duty motel formulae	1			
400	Heavy duty metal ferrules	1	00	400.00	0.000.00
109	Paint Brush, 4"	рс	20	100.00	2,000.00



\sim		1		,	
110	Paint, Acrylic Base Latex, White, flat	gal	2	850.00	1,700.00
	Premium Quality Paint				
111	Paint, Burnt Umber Latex	liter	1	260.00	260.00
112	Paint, color: white, enamel	gal	2	800.00	1,600.00
	good quality;				
113	Paint, Flat Latex, Chocolate Brown	gal	2	750.00	1,500.00
114	Paint, Latex, Semi Gloss, White, at least 16 liters per pail	pail	1	3,200.00	3,200.00
	Premium Quality Paint	-		,	·
115	Paint, QDE, Black	gal	6	720.00	4,320.00
	Premium Quality Paint				,
116	Paint, Toluidine Red, Latex	liter	1	260.00	260.00
117	Paint, TTC, Thalo Green, Latex	liter	4	500.00	2,000.00
	Premium Quality		•	333.53	
118	Pipe Fittings (Brass) Ball valve, 3/4"Ø	рс	2	450.00	900.00
	Pipe Fittings (G.I.) Reducer Bushing, 3/4"Ø x 1/2"Ø,	-			
119	Sched 80	length	10	65.00	650.00
120	Pipe Fittings (G.I.) Union, 1/2"Ø, Sched 80	length	10	100.00	1000.00
121	Pipe Fittings (G.I.)Coupling, 3/4"Ø, Sched 80	рс	10	35.00	500.00
122	Pipe Fittings, (G.I.) Elbow, Straight, 90 deg x 2"Ø	рс	8	250.00	2000.00
	Schedule 40, Good Quality				
123	Pipe Fittings, (G.I.), Tee, 2"Ø	рс	3	250.00	750.00
	Schedule 40, Good Quality				
124	Pipe Fittings, (G.I.), Tee, 3/4"Ø	рс	10	80.00	800.00
	Schedule 40, Good Quality				
125	Pipe Fittings, (G.I.), Union, 2"Ø	рс	3	350.00	1,050.00
	Schedule 40, Good Quality				•
126	Pipe Fittings, (G.I.), Union, 3/4"Ø	рс	5	150.00	750.00
	Schedule 40, Good Quality				
127	Pipe Fittings,(G.I.), Reducer Bushing 1"Ø x 3/4"Ø	рс	10	82.00	820.00
	Schedule 60, Good quality;	•			
128	Pipe Wrench #6	рс	1	5,000.00	5,000.00
	Super strength cast aluminum and alloy metal handle.	•		,	,
	Two way toothing and spring loaded jaw provide positive grip				
	Made of Chromium-Molybdenum steel forged jaws heat				
	treated				
	Hand Tools Type : Wrenches				
	Jaw Capacity : 34 mm				
	Size: 6 Inch				
129	Pipe Wrench, 12"	unit	3	4,600.00	13,800.00
	Heavy Duty Straight Pipe Wrench				
	Durable				
130	Pliers, 6", Long nose	рс	1	300.00	300.000
	Heavy Duty, Durable, Good Quality				
131	Pliers, 8", Long nose	рс	1	350.00	350.00
	Heavy Duty, Durable, Good Quality	•			
132	Plywood, Marine, 1/4"(thickness) x 4' x 8'	рс	350	580.00	203,000.00
	Standard, Good Quality				,
133	Plywood, Marine, 3/4"(thickness) x 4' x 8'	рс	317	1,650.00	523,050.00
	• • • • • • • • • • • • • • • • • • • •			,	,



$\overline{}$					
	Standard, Good Quality				
134	Plywood, Ordinary, 1/2"(thickness) x 4 'x 8'	рс	4	700.00	2,800.00
	Standard, Good Quality				
135	Portable Electric Welding Machine, 300A Inverter	unit	1	10,000.00	10,000.00
	■ Phase: Single				
	■Max. No-Load Voltage: 60V				
	■Duty Cycle: 60%				
	■Rated output current : 300 Amperes				
	■Single phase, portable, fan cooled				
	■Low energy consumption, light in weight with handle for eas				
	y handling				
136	Power Sprayer Pressure Washer	рс	1	3,250.00	3,250.00
	High Pressure Washer Specs				
	Technical Details				
	Motor Power 1200W				
	Design				
	Color Black				
137	Pressure Washer Set, Heavy Duty (Belt Driven)	unit	2	15,000.00	30,000.00
	80 Bars = 1200 psi				
	Contents:				
	Electronic Motor 1.5 Hp				
	Piston Pump				
	50m discharge hose				
	2m suction hose				
	2 m return hose				
	Sprayer Straight				
	Base				
	Power cord and plug included				
138	Professional Jigsaw	рс	1	4,500.00	4,500.00
	520W, 220V, adjustable speed	le c	-	1,000100	.,
139	Rainboots, Heavy Duty High Cut Boots, for Men (# 6), White	pair	2	700.00	1,400.00
140	Rainboots, Size: 7 (Women), Black	pair	2	365.00	730.00
	Hi-cut, Seamless injection for good waterproofing, Premium Quality	p			
141	Rangepole Graduated, 5 meters	рс	1	7,280.00	7,280.00
	Rangepole Graduated, 5 meter length, telescopic, built-in	<u> </u>			, -
	bubble with individual Soft Bag				
142	Receptacle Socket, 4" x 4"	рс	20	50.00	1,000.00
143	Rechargeable Emergency Bulbs, ACDC, 12W	рс	30	620.00	18,600.00
	3.7V 4000 mAh Lithium Ion Battery				
	Daylight Color Temperature				
	840 Lumes AC				
	500 Lumens DC				
	220V AC/DC				
	8 Hours Charging Time				
	2.5 - 3 Hours Usage Duration				
	Overcharge and discharge protection				
	Free portable Lamp Holder				



$\underline{\hspace{1cm}}$					
	Instant Flashlight				
144	Rope, Nylon, #18 (9mm)	meter	144	25.00	3,600.00
	Twisted 3 Strand, Good Quality				
145	Safety Gloves, Cotton knitted with Latex Orange Coated Palm	pair	17	40.00	680.00
	■ Five fingers freedom, can satisfy various movements and comfortable and flexible.				
	■Anti-skid				
	■Wear-resistant				
	■ Oil resistant				
	■Corrosion resistant				
146	Sand, Coarsed, Washed	cu.m.	8	1,700.00	13,600.00
147	Sand, Washed	cu.m.	6	1,700.00	10,200.00
148	SDR 11, Black HDPE Pipe 25.4mm (1" Ø) x 100 meters	roll	1	4,500.00	4,500.00
149	Shafting, Mild Steel 1-1/4"Ø x 20'	length	3	6,000.00	18,000.00
150	Shafting, Mild Steel, 1/2"Ø x 20'	length	5	800.00	4,000.00
151	Shafting, Mild Steel, 1"Ø x 20'	length	3	900.00	2,700.00
152	Sharpening Stone, Silicon Carbide(Carborundum), 6", original	рс	2	220.00	440.00
	Premium Grade, 6" x 2" x 1.2"				
153	Sheet, Polycarbonate Roofing(Corrugated), 4' x 8'	sheet	79	2,000.00	158,000.00
	Durable, Premium Quality				
154	Sheets, (G.I.) Corrugated, Gauge 26 (0.40mm), 8'	рс	60	550.00	33,000.00
	Standard width;				
155	Sheets, (G.I.) Corrugated, Gauge 26 (0.551mm) 12'	sheet	8	990.00	7,920.00
	Standard width, Good Quality;				
156	Sheets, (G.I.) Corrugated, (0.5mm thickness) 4' x 10'	рс	24	700.00	16,800.00
157	Sheets, (G.I.) Corrugated, (0.5mm thickness) 4' x 12'	sheet	28	990.00	27,720.00
158	Sheets, (G.I.) Plain, Gauge 16 x 4' x 8'	sheet	5	2,200.00	11,000.00
	Standard, Good Quality				
159	Shovel, Tempered steel round pointed end	рс	3	370.00	1,110.00
	■Heavy duty wooden handle				
	■ Good quality				
160	Shovel, Tempered steel spade	рс	3	300.00	900.00
	Heavy duty wooden handle, Good quality				
161	Single pulley, 3"x3/4", A (big hub)	рс	20	200.00	4,000.00
	3 inches x 3/4 inch A				
	with big hub				
162	Skim Coat, 20kg/bag	bag	1	550.00	550.00
	■Good water vapor permeability				
	■Excellent bonding to concrete				
163	Soldering Lead, 1mm	spool	3	120.00	360.00
	■ Good quality				
	■60% tin and 40% lead				
	■melting point 190oC				
164	Steel Bar, Deformed(Corrugated),10mm x 6m	length	65	250.00	16,250.00
	■0.616 kg/M PNS 230				
	■ASTM / Grade 33 Structural				



165	Steel Bar, Deformed(Corrugated),12mm x 6m	length	18	330.00	5,940.00
	ASTM / Grade 33 Structural;				
166	Steel Bar, Round (plain), 10mm x 6m	length	6	295.00	1,770.00
	Standard Grade				
167	Steel Brush	рс	10	70.00	700.00
168	Stone, Sander for 4" angle grinder	рс	65	150.00	9,750.00
	Durable, Good Quality	•			·
169	Straight Elbow G.I. 3/4"	рс	10	90.00	900.00
170	Teflon Tape, 1" x 10m	roll	40	100.00	4,000.00
171	Teflon Tape, 1/2"Ø x 10m	roll	10	50.00	500.00
	Good for sealing on pipe thread	10.1	- 10	55.55	
172	Threaded Teeth/ Head Rachet Type with Handle	set	1	6,000.00	6,000.00
173	Tiles, Granite 60cm x 60cm		300	295.00	88,500.00
173	Biege, Premium grade	рс	300	293.00	00,300.00
174	Tool Bit, 5/16" Ordinary, box of 50's	box	3	800.00	2 400 00
-		+			2,400.00
175	Tool Bit, 5/16", Carbide, box of 50's	box	3	1,000.00	3,000.00
176	Trowel, Concrete Plastering, (230mm x 100mm), Metal	рс	5	200.00	1,000.00
	Heavy Duty, Good Quality				
177	Welding dimming glass	рс	5	20.00	100.00
	#10, (2" x 4 1/4" x 2.7mm)				
178	Welding Gloves	pair	10	500.00	5,000.00
	■ISO and CE certified				
	■EN12477 Type-A protection for welding and thermal jobs				
	■Suitable for stick and MIG welding, as well as torch cutting				
	and grinding				
	■Premium split cowhide leather and welted seams				
	■Cotton lining provides thermal insulation				
	■Long cuff extends protection over the forearm.				
179	Welding Rod, E-6012, 3/32"	kg	120	200.00	24,000.00
	Premium Quality				
180	Welding tong or welding rod handle	unit	4	1,700.00	6,800.00
	Size: 500A to 800A				
	Heavy Duty				
181	Wheel barrow	рс	1	2,868.00	2,868.00
	Quality Wheel Barrow for agriculture and construction Ideal				
	helper for your work and gardening. *Orange color *Load				
	Capacity: 150KG *Material: Made of Metal *Packaging:				
	Multiple Solid Rubber Wheel Tire Type Wheel size: 33 " Light				
100	Easy to assemble Wood Glue	lita-	1	250.00	250.00
182		liter		250.00	250.00
183	Iron Barbed Wire # 12	roll	10	4,000.00	40,000.00
	■Iron Barbed Wire #12				
	■150 Meters/roll				
	■Material : Iron Wire				
	©Commonly used for fencing				
184	Wire, Duplex #12, PDX	meter	4166	60.00	249,960.00
185	Plywood, Marine, 1/2"(thickness) x 4' x 8'	рс	215	1,100.00	236,500.00
	Standard, Good Quality				
186	Sheets, (G.I.) Corrugated, Gauge 26 (0.551mm) 12'	sheet	110	990.00	108,900.00



	Standard width, Good Quality				
187	Sheets, (G.I.) Plain ,Gauge 26 (0.551mm) x 8'	sheet	40	600.00	24,000.00
101	Standard, Good Quality	Silect	-10	000.00	24,000.00
188	Slotted Angle Bar	length	50	800.00	40,000.00
100	1 ½" X 1 ½" X 3 m , 2mm thk, including bolts and	lengui	30	000.00	40,000.00
	accessories, metal powder coated – Off white				
400	Wye delta timer, Normally Open (NO) - Normally Close		•	2 202 20	
189	(NC), w/ socket	рс	2	3,000.00	6,000.00
190	Cast Iron Stove Heavy Duty Stove, 3 Way Burner, with	set	1	5,000.00	5,000.00
	Hose and Regulator			,	<u> </u>
191	Nails, Common Wire, 1-1/2"	kg	11	90.00	990.00
192	Paint, Roller Cotton, 4"	рс	5	80.00	400.00
	for repair of ceiling				
193	Paint, Roller Cotton, 7"	рс	5	110.00	550.00
	for repair of ceiling				
194	JET/SHALLOW WATER PUMP 12 HP	unit	1	20,000.00	20,000.00
195	Cement, (White) Portland	bag	10	400.00	4,000.00
	Premium Quality, 1kg per bag				
196	Nails, Concrete, 2"	kg	5	150.00	750.00
	Fluted shank				
197	Padlock, 50mm	рс	10	210.00	2,100.00
	Heavy Duty, Durable, Good Quality				
198	Paint Brush, 3"	рс	15	95.00	1,425.00
199	Paint Brush, Roller with handle and PVC Tray, 9"	рс	2	350.00	700.00
	Durable, good quality	•			
200	Paint Brush, Roller with handle, 7"	рс	15	100.00	1,500.00
	Durable, Good quality	•			·
201	Paint, Silver Alum	gal	2	1,200.00	2,400.00
	Premium Quality Paint	J. J.		,	,
202	Putty Knife, 3"(75mm)	рс	6	120.00	720.00
	■Flexible Stainless Steel Blade	100		12000	
	Mirror Surface Finishes				
	■Rubberized Handle or Equivalent				
	■Good Quality, Durable, Heavy Duty.				
203	Steel Wire Brush, Wood Handle	рс	2	40.00	80.00
200	Abrasive Brush, Heavy-Cleaning with Arched Handle, 1/8"	Po	-	70.00	00.00
	Wide x 4-7/8" Long, Steel				
204	Varnish, plastic, natural	btl	5	170.00	850.00
	Premium Quality				
205	Wood preservative, brown	gal	6	1,700.00	10,200.00
	Schedule 40, Good Quality			,	•
206	Nails, Concrete, 1-1/2"	kg	1	100.00	100.00
207	Tile Adhesive, 25kg/bag	bag	15	350.00	5,250.00
208	Faucet, Brass Plated	pc	15	300.00	4,500.00
	■Sturdy and Durable	P-		200.00	.,
	■Heavy Duty Hose bib: 1/2" Hose end: 3/4"				
209	Nails, Concrete, 4"	kg	5	100.00	500.00
203	Fluted shank	ny	J	100.00	500.00
210	Nails, Finishing, 1"	kg	2	80.00	160.00
Z 10	ivans, i illisiiniy, i	Ny	L	00.00	100.00



				1	
	Smooth Shank				
211	Nails, Finishing, 2"	kg	3	80.00	240.00
	Smooth Shank				
212	Paint Thinner	gal	2	590.00	1,180.00
	Premium Quality				
213	Paint, Latex Flat, White	gal	15	800.00	12,000.00
	Premium Quality Paint				
214	Paint, Latex, Chocolate Brown	gal	2	950.00	1,900.00
	Premium Quality Paint				
215	Paint, Latex, Semi Gloss, White	gal	15	950.00	14,250.00
	Premium Quality Paint				
216	Paint, Metal Primer, Red Lead	liter	8	195.00	1,560.00
	Premium Quality				
217	Paint, Roof, White (laguna)	gal	6	800.00	4,800.00
	Premium Quality Paint				·
218	Paint, TTC, Bulletin Red, Latex	liter	1	500.00	500.00
	Premium Quality				
219	Paint, TTC, Burnt Sienna, Latex	liter	5	500.00	2,500.00
	Premium Quality				-
220	Paint, TTC, Raw Sienna, Latex	liter	10	500.00	5,000.00
	Premium Quality				,
221	Paint, TTC, Thalo Blue, Latex	liter	4	500.00	2,000.00
	Premium Quality				,
222	Cutting Disc, 4" (Super Thin)	рс	10	100.00	1,000.00
223	SSR Square Tube (T304) 1.20mm X 1 1/2 X 1 1/2 X 20ft	length	7	3,800.00	26,600.00
	Angle Bar, 1/4"(thickness) x 1-1/2" x 1-1/2" x 20',			·	·
224	standard	length	10	1,000.00	10,000.00
225	Plywood, Marine, 1/4"(thickness) x 4' x 8'	рс	2	580.00	1,160.00
226	Welding Rod, E-6012, 1/8"	kg	20	200.00	4,000.00
	Premium Quality				
227	Open Reel Measuring Tape	рс	2	2,000.00	4,000.00
	■Fiberglass				
	■Stainless steel frame				
	■Specification: 30M/50M/100M (98ft/164ft/328ft)				
	■Material: Stainless steel				
	■ABS Unit: Metric/Imperial				
	■Dimension: 30M: approx. 25x17x2cm 50M: approx.				
	31x18x2.5cm 100M: approx. 31x18x2.5cm				
	■Rugged, Impact-resistant				
	■Plating ruler tape/nylon ruler tape, with good clarity and wear-resistant.				
	■ Features Cone Tip Stake for Accurate Measurements and Stability.				
	© Comes with a convenient carry handle.				
	■Easy to read Metric and Imperial graduation				
228	Adjustable Shower Head	рс	5	150.00	750.00
	Spout diameter: at least 80mm, Interface diameter: at least 20mm, Three (3) adjustment shower spray				
229	Epoxy Primer with catalyst	gal	4	1,200.00	4,800.00



	Premium Quality for Auto body repair				
230	Floor Tiles, 40 cm x 40 cm (White)	рс	20	300.00	6,000.00
231	Padlock, 60mm	рс	2	350.00	700.00
	Heavy duty, durable, Good Quality				
232	Paint, Latex, Glossy White	pail	5	3,200.00	16,000.00
	Premium Quality Paint				
233	Paint Brush, Roller with tray, 1-1/4" x 4"	рс	3	100.00	300.00
	Durable, Good quality				
234	Steel Wire Brush, Wood Handle	рс	4	40.00	160.00
	Abrasive Brush, Heavy-Cleaning with Arched Handle, 1/8" Wide x 4-7/8" Long, Steel				
235	Doorknob, excellent quality	рс	20	1,100.00	22,000.00
236	LED Bulb, 15 watts	рс	30	300.00	9,000.00
237	Jalousie Aluminum Frame, 14 blades	set	52	250.00	13,000.00
238	Jalousie Glass Blades, 3/16" x 4" x 24", Smoked glass	рс	364	50.00	18,200.00
239	Bench Grinder	set	1	21,000.00	21,000.00
_				TOTAL:	4,051,808.00

DILBERTO O. FERRAREN

BAC Chairman